
Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

HYTRACK HY400

SPARE PARTS CATALOG

Public prices without VAT 16/03/2009

Page 1/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

HANDLEBAR / SPEEDOMETER

Nr REFERENCE DESIGNATION QTY PRICE

1 HY20104G TABLEAU BORD SUP. POUR 30101G 1 22,00

3 HY32030 INTERRUPTEUR WARNING 1 8,70

4 HY30110 CONTACT A CLEF 1 12,00

5 HY30101G COMPTEUR DIGITAL SANS JAUGE 1 294,00

6 HY10178 SCREW 7 0,60

7 HY30117 RETROVISEUR GAUCHE 1 21,00

8 HY30118 RETROVISEUR DROIT 1 21,00

9 HY10139 VIS M8X65 4 0,80

10 HY10068 WASHER 8 4 0,60

11 HY10079 ECROU M8 4 0,60

12 HY30114A COMMODO GAUCHE AVEC OVER RIDE 1 28,00

13 HY30515 POIGNEE CAOUTCHOUC 2 8,50

14 HY30119 EMBOUT DE GUIDON 2 8,00

Page 2/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

HANDLEBAR / SPEEDOMETER

Nr REFERENCE DESIGNATION QTY PRICE

15A HY20109B GACHETTE ACCELERATEUR POUR 4X4 1 32,00

15C HY20109 GACHETTE ACCELERATEUR POUR 4X2 1 26,00

16 HY27328 GUIDON 1 19,80

17 HY27296 CABLE D ACCELERATEUR 1 12,50

18 HY20112A 1/2 COLLIER GUIDON 4 2,70

19 HY20117F PLAQUE SUPPORT TABLEAU DE BORD 1 15,20

20 HY20120 TABLEAU DE BORD INFERIEUR 1 32,70

23 HY10004 NUT M6 2 0,60

26 HY30123 AMPOULE POUR BLOC VOYANT 1 0,60

28 HY25526 HOLDER,REAR VIEW MIRROR 1 2,50

29 HY10008 SCREW M6X20 2 0,60

30 HY27257 CACHE NEIMAN 1 1,80

32 HY22126 LEFT MIRROR SUPPORT 1 10,80

Page 3/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

FUEL TANK

Nr REFERENCE DESIGNATION QTY PRICE

1 HY30201 BOUCHON RESERVOIR CARBURANT 1 6,00

2 HY20202 RENIFLARD 1 1,60

3 HY20203 RACCORD 1 4,70

4 HY20204 JOINT MOUSSE 1 3,40

5 HY10005 VIS M6X60 2 0,80

6 HY10006 RONDELLE 6 2 0,60

7 HY20207 PATTE DE MAINTIEN GAUCHE 1 3,00

8 HY30207 RESERVOIR CARBURANT 1 85,50

9 HY20209 AMORTISSEUR MOUSSE 1 29,40

10 HY20210 COLLAR 2 4,30

11 HY20211 MOUSSE PROTECTION 2 0,60

12 HY20212 DURITE CARBURANT 1 9,80

13 HY10007 VIS 1 0,70

Page 4/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

FUEL TANK

Nr REFERENCE DESIGNATION QTY PRICE

14 HY30235 TE RACCORD DURITE ESSENCE 2 7,40

15 HY20215 POIGNEE DE CONTROLE CARBURANT 1 4,70

16 HY20216 ECROU SPECIAL 1 3,30

17 HY20217 ROBINET CARBURANT / POMPE 1 17,70

18 HY20218 CLIP DIAM 12 5 0,80

19 HY20219 LIGNE DE CARBURANT 2 1 5,50

20 HY20220 FILTRE A ESSENCE 1 5,00

21 HY20221 COLLIER 1 0,90

22 HY20222 PATTE DE MAINTIEN DROITE 1 2,90

23 HY27299 TUYAU CARBURANT 1 1 6,00

24 HY10308 RONDELLE 6 FENDUE 2 0,70

25 HY20225 ENSEMBLE ROBINET D'ESSENCE 1 36,50

26 HY20226 BAGUE FIXATION FILTRE 1 1,10

Page 5/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

FUEL TANK

Nr REFERENCE DESIGNATION QTY PRICE

32 HY30236 TUBE 1 3,70

33 HY30236 TUBE 1 3,70

34 HY30236 TUBE 1 3,70

Page 6/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

REAR BODY / SEAT

Nr REFERENCE DESIGNATION QTY PRICE

1 HY20301R SELLE ROUGE/NOIR 1 155,00

HY20301B SELLE BLEU/NOIR 1 155,00

HY20301V SELLE VERT/NOIR 1 155,00

HY20333 TAMPON DE SELLE HY400 8 2,40

2 HY20302 RESSORT 2 2,20

3 HY20303 ATTACHE DE SELLE 1 2,70

4 HY20304 BAGUE DE RETENUE 2 3,60

5 HY10178 SCREW 4 0,60

6 HY10010 VIS M6X15 2 0,60

7 HY20307 BOUCHON DE COFFRE 1 5,30

8 HY27311 COFFRE 1 40,90

9 HY20309R AILE ARRIERE ROUGE 1 82,00

HY20309B AILE ARRIERE BLEUE 1 82,00

Page 7/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

REAR BODY / SEAT

Nr REFERENCE DESIGNATION QTY PRICE

HY20309V AILE ARRIERE VERTE 1 82,00

10 HY10011 RONDELLE 6 4 0,60

11 HY10010 VIS M6X15 42 0,60

12 HY20312 PATTE DE VERROUILLAGE 1 3,40

13 HY20313 EXTENSION ARRIERE DROIT 1 33,60

14 HY20314B MARCHE PIED DROIT 1 32,00

15 HY20315 SCREW M6X20 14 0,60

16 HY20316 SILENT BLOCK 14 2,00

17 HY20317 EXTENSION ARRIERE GAUCHE 1 33,60

18 HY20318 MARCHE PIED GAUCHE 1 32,00

19 HY20319 CALE CAOUTCHOUC BATTERIE 3 0,30

20 HY20320 PROTECTION CHASSIS PLASTIQUE 1 42,00

21 HY20321 PROTECTION TEMP REPOSE PIED 1 10,30

Page 8/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

REAR BODY / SEAT

Nr REFERENCE DESIGNATION QTY PRICE

22 HY20322 PROTECTION TEMP DESSUS ECHAPP 2 9,30

23 HY20323 PROTECTION TEMP DESSUS ECHAPP 2 9,30

24 HY20324 PROTECTION HAUTE TEMP. SELLE 2 10,30

26 HY20326 TROUSSE A OUTILS 1 13,60

27 HY20327 VIS M10X25X1,5 1 18,00

28 HY20328 PROTECTION GAUCHE 1 18,00

29 HY20329 CACHE 1 11,00

30 HY10191 VIS M6X18 9 0,60

31 HY20331 RONDELLE PLAQUE DE PROTECTION 7 10,80

32 HY20332 PROTECTION HAUTE TEMP DROITE 1 10,80

33 HY25063 CACHE BATTERIE 1 5,10

Page 9/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

FRONT BODY / FRAME

Nr REFERENCE DESIGNATION QTY PRICE

1 HY20401 CAPOT AVANT 1 19,80

2 HY20402R FRONT FENDER RED 1 74,70

HY20402B BLUE FRONT FENDER 1 74,70

HY20402V CARROSSERIE AVANT VERTE 1 74,70

3 HY20403B CACHE LATERAL GAUCHE 1 18,00

4 HY20404B CACHE LATERAL DROIT 1 18,00

5 HY20405 EXTENSION AVANT DROITE 1 22,90

6 HY10004 NUT M6 40 0,60

7 HY20407 EXTENSION AVANT GAUCHE 1 22,90

8 HY27301 CHASSIS 1 905,00

9 HY20409 PROTECTION RESERVOIR 1 2,20

10 HY20410 PETIT CACHE CAPOT 1 11,20

11 HY10178 SCREW 1 0,60

Page 10/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

FRONT BODY / FRAME

Nr REFERENCE DESIGNATION QTY PRICE

12 HY20412 SUPPORT SUPERIEUR DE RADIATEUR 1 3,15

13 HY20413A SUPPORT BAS RADIATEUR 1 12,37

14 HY20414 CALLE CAOUTCHOUC 1 3,15

17 HY20421 CLAMP 2 3,00

18 HY27259 CLAMP 2 0,10

DM-20039 STICKER HYTRACK HY400 4X2 1 60,00

DM-20040 STICKER HYTRACK HY400 4X4 1 60,00

DM-20019 LINHAI LOGO ON HY20401 1 2,00

Page 11/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

FRONT A-ARM

Nr REFERENCE DESIGNATION QTY PRICE

1 HY26907 ENSEMBLE AMORTISSEUR 2 177,60

2 HY10164 ECROU M14X1,5 2 0,70

3 HY21802 RONDELLE 14 2 0,80

4 HY21803 ENTRETOISE CAOUTCHOUC 2 1,50

5 HY21804 BAGUE AMORTISSEUR 2 17,50

6 HY10093 VIS M8X55 4 0,60

7 HY21806 ECROU 2 3,70

8 HY21807 BAGUE INFERIEURE 2 16,90

9 HY21808 BAGUE DE RETENUE DE RESSORT 2 9,30

10 HY26909 RESSORT AMORTISSEUR 2 3,00

11 HY26908 SHOCK ABSORBER 2 144,00

12 HY21811 COLLIER 2 2,20

13 HY10079 ECROU M8 4 0,60

Page 12/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

FRONT A-ARM

Nr REFERENCE DESIGNATION QTY PRICE

14 HY21813 BAGUE DE RETENUE DE RESSORT 2 0,80

15 HY26910 JAMBE DE FORCE GAUCHE 1 202,50

16 HY26911 JAMBE DE FORCE DROITE 1 202,80

17 HY26912 WASHER 2 0,60

18 HY26913 ROULEMENT  0704 2 140,80

19 HY10026 GREASER M6X6 2 1,30

20 HY20512 ROTULE NFERIEURE 2 12,70

21 HY20513 SUPPORT ROTULE INFERIEURE 2 3,20

22 HY20514 CAOUTCHOUC ROTULE INFERIEURE 2 2,90

23 HY10022 VIS M6X12 4 0,60

24 HY10089 RONDELLE 10 2 0,88

25 HY10023 ECROU M10 2 0,80

26 HY10021 GOUPILLE FENDUE 2 0,60

Page 13/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

FRONT A-ARM

Nr REFERENCE DESIGNATION QTY PRICE

27 HY20518F TRIANGLE AVANT GAUCHE 1 73,00

28 HY20627F RONDELLE GROVER 10 1 73,00

29 HY20522F VIS ARTICULATION TRIANGLE 2 9,20

30 HY10136 RONDELLE 4 1,00

31 HY20524F SILENT BLOCK 4 8,30

32 HY20519 PROTECTION GAUCHE 1 2,40

33 HY20628 VIS M10X25X1,5 1 2,40

34 HY10001 VIS M5X12 4 0,90

Page 14/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

REAR A-ARM

Nr REFERENCE DESIGNATION QTY PRICE

2 HY27324 BRAS ARRIERE GAUCHE 1 43,80

3 HY70682 BAGUE 16 43,80

4 HY70683 AXE 4 9,10

5 HY70684 VIS M10X1.25X80 4 4,50

7 HY27325 BRAS ARRIERE DROIT 1 43,80

9 HY27326 ARBRE ARRIERE GAUCHE 1 43,80

10 HY70665 RUBBER BUSH 4 36,60

11 HY70687 AXE 203MM 2 12,90

12 HY70688 VIS M10X1.25X230 2 6,60

15 HY27327 ARBRE ARRIERE DROIT 1 43,80

16 HY27394 REAR SHOCK ABSORBER 2 317,70

17 HY70012 SCREW M10X1.25X52 4 2,40

20 HY70691 PIVOT 1 502,00

Page 15/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

REAR A-ARM

Nr REFERENCE DESIGNATION QTY PRICE

21 HY70692 AXE 2 6,80

22 HY70693 AXE 2 8,00

23 HY70694 SCREW 2 4,50

24 HY70695 SCREW 2 4,50

25 HY70674 ROULEMENT AU0712 2 133,50

26 HY27217 CIRCLIP 58 2 0,50

29 HY70696 STABILISATEUR 1 69,40

31 HY70697 SUPPORT DE BAGUE 2 8,00

32 HY70698 BAGUE STABILISATEUR 2 9,50

33 HY10081 VIS M8X20 4 0,60

34 HY70699 ARTICULATION STABILISATEUR 2 57,80

35 HY10015 ECROU M10X125 NOIR 18 1,80

36 HY70675 JOINT SPY 61.5 43 11 2 4,80

Page 16/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

REAR A-ARM

Nr REFERENCE DESIGNATION QTY PRICE

37 HY70676 JOINT SPY 58 41.2 11 2 4,50

38 HY70554 PROTECTION TRIANGLE AVT GAUCHE 1 18,60

39 HY70556 PROTECTION  TRIANGLE AVT DROIT 1 18,60

Page 17/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

FRONT WHEEL

Nr REFERENCE DESIGNATION QTY PRICE

1 HY70712A JANTE AVANT 2 160,00

TIRE FOR OFF ROAD

2 HY26943 PNEU  25X8-12 INNOVA GEAR LITE 2 115,00

TIRE FOR ROAD

XG-2168 FRONT TIRE 25X8-12 2 99,50

4 HY27285 MOYEU AVANT 2 123,40

5 HY70714 GOUJON M12X1.25 8 1,20

6 HY70718 WASHER 2 4,50

7 HY20807 VALVE COUDEE 2 3,60

8 HY70721 ECROU A CRENEAUX 2 1,80

9 HY70722 WASHER 2 5,70

10 HY10038 GOUPILLE FENDUE 2 0,60

11 HY70087 ECROU DE ROUE HEXAGONAL 8 6,00

12 HY70717 CACHE DE PROTECTION 2 16,80

Page 18/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

REAR WHEEL

Nr REFERENCE DESIGNATION QTY PRICE

1 HY70716A JANTE ARRIERE 2 160,00

TIRE FOR OFF ROAD

2 HY26237 PNEU 25X10-12 INNOVA GEAR LITE 2 130,00

TIRE FOR ROAD

XG-2169 REAR TIRE 25X10-12 2 124,58

3 HY70717 CACHE DE PROTECTION 2 16,80

5 HY70719 MOYEU DE ROUE ARRIERE 2 113,40

6 HY70714 GOUJON M12X1.25 8 1,20

7 HY70718 WASHER 2 4,50

8 HY70721 ECROU A CRENEAUX 2 1,80

9 HY70722 WASHER 2 5,70

10 HY10038 GOUPILLE FENDUE 2 0,60

11 HY70087 ECROU DE ROUE HEXAGONAL 8 6,00

12 HY20807 VALVE COUDEE 2 3,60

Page 19/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

TRANSMISSION 4x2

Nr REFERENCE DESIGNATION QTY PRICE

1 HY21201 JOINT 25X47X8 1 3,30

2 HY10060 VIS M8X28 17 0,60

3 HY21203B COUVERCLE 1 69,60

4 HY21104 PION 2 1,60

5 HY10061 ROULEMENT 6205-2RS 3 11,00

6 HY21206B ARBRE POUR FLASH BRAKE 1 67,00

7 HY21207 CHAINE 1 58,60

8 HY21208 ENGRENAGE 16T 1 35,60

9 HY10063 ROULEMENT 6204C3 3 8,70

10 HY21210 PIGNON HELICOIDAL 35T 1 52,30

11 HY21211 GOUPILLE DE VERROUILLAGE 2 5,20

12 HY21212 SUPPORT VERROUILLAGE 1 2,90

13 HY21213 RESSORT 1 0,70

Page 20/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

TRANSMISSION 4x2

Nr REFERENCE DESIGNATION QTY PRICE

14 HY21211 GOUPILLE DE VERROUILLAGE 1 5,20

15 HY10001 VIS M5X12 2 0,90

16 HY21216 COLLAR 1 1,40

17 HY21217 PIGNON 31T 1 43,20

18 HY21218 ROULEMENT 25 1 6,80

19 HY21219 BAGUE D'APPUI 1 0,70

20 HY10064 CIRCLIP 1 0,80

21 HY21221 CRABOT 1 21,60

22 HY10065 CIRCLIP 1 0,80

23 HY21223 BAGUE D'APPUI 1 0,90

24 HY21224 PIGNON 24T 1 55,40

25 HY21225 ROULEMENT 25 1 6,40

26 HY21223 BAGUE D'APPUI 1 0,90

Page 21/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

TRANSMISSION 4x2

Nr REFERENCE DESIGNATION QTY PRICE

27 HY21327 ARBRE 1 56,70

28 HY21218 ROULEMENT 25 1 6,80

29 HY21329 PIGNON 35T 1 40,90

30 HY21223 BAGUE D'APPUI 1 0,90

31 HY10064 CIRCLIP 1 0,80

32 HY21332 PIGNON 1 31,40

33 HY21333 WASHER 1 0,60

34 HY10079 ECROU M8 1 0,60

35 HY10068 WASHER 8 2 0,60

36 HY21336 LEVIER COUDE 2 4,90

37 HY10069 CIRCLIP 2 0,90

38 HY21338 WASHER 2 1,20

39 HY21339 DURITE VENTILATION 1 34,50

Page 22/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

TRANSMISSION 4x2

Nr REFERENCE DESIGNATION QTY PRICE

40 HY21340 CONNECTEUR 1 4,50

41 HY21341 FOURCHETTE DE BOITE 1 66,00

42 HY10007 VIS 8 0,70

43 HY10071 RONDELLE 4 8 0,70

44 HY21344 CONTACTEUR CHANG. VITESSE DOWN 1 43,70

45 HY21345B CARTER DE BOITE DROIT POUR 320 1 180,80

46 HY21201 JOINT 25X47X8 1 3,30

47 HY21475 JAUGE 1 5,20

48 HY10219 VIS M4X6 1 0,60

49 HY10063 ROULEMENT 6204C3 1 8,70

50 HY21350 PIGNON HELICOIDAL 46T 1 59,30

51 HY10073 VIS M6X10 4 0,60

52 HY21351 PLAQUE  MAINTIEN DE ROULEMENT 1 5,40

Page 23/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

TRANSMISSION 4x2

Nr REFERENCE DESIGNATION QTY PRICE

53 HY21453 CIRCLIP 1 0,80

54 HY10074 ROULEMENT 6305ST 1 20,30

55 HY21455 ARBRE DE PIGNON 10T 1 169,50

56 HY21456 FOURCHETTE 1 63,40

57 HY21457 CONTACTEUR CHANG. VITESSE DOWN 1 41,40

58 HY10075 CIRCLIP 2 0,70

59 HY21459 AXE DE SELECTION COURT 1 22,10

60 HY21460 AXE DE SELECTION LONG 1 24,40

61 HY21461 BAGUE D'APPUI 1 0,80

62 HY21462 ENGRENAGE 1 193,70

63 HY70354 ARBRE 1 82,20

64 HY21464 BAGUE DE CENTRAGE 1 1,50

65 HY21465 CALE D'EPAISSEUR 1 1 0,90

Page 24/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

TRANSMISSION 4x2

Nr REFERENCE DESIGNATION QTY PRICE

66 HY21107 CALE D'EPAISSEUR 1 1,80

67 HY21104 PION 1 1,60

68 HY21468 CACHE 1 57,50

69 HY21469 SCREW 1 2,90

70 HY21470 WASHER 1 0,60

PART NO 71, SEE THE CHAPTER SUPPORT BRACKET

72 HY21473 BARBOTEUR 1 5,25

73 HY10122 JOINT 18X2.65 1 0,80

74 HY21477 PIGNON 1 21,00

75 HY10123 JOINT 14X2.65 4 0,80

77 HY25511 ENTRETOISE MAGNETIQUE 1 52,00

78 HY25512 WASHER 1 1,80

79 HY25513 CACHE POUR CAPTEUR DE VITESSE 1 15,00

Page 25/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

TRANSMISSION 4x2

Nr REFERENCE DESIGNATION QTY PRICE

80 HY27216 JOINT SPI 30X40X5 1 21,80

81 HY10010 VIS M6X15 3 0,60

82 HY10414 CIRCLIP 24MM 1 1,20

Page 26/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

TRANSMISSION 4x4

Nr REFERENCE DESIGNATION QTY PRICE

1 HY21201 JOINT 25X47X8 1 3,30

2 HY10060 VIS M8X28 17 0,60

3 HY21203B COUVERCLE 1 69,60

4 HY21104 PION 2 1,60

5 HY10061 ROULEMENT 6205-2RS 4 11,00

6 HY21206B ARBRE POUR FLASH BRAKE 1 67,00

7 HY21207 CHAINE 1 58,60

8 HY21208 ENGRENAGE 16T 1 35,60

9 HY10063 ROULEMENT 6204C3 3 8,70

10 HY21210 PIGNON HELICOIDAL 35T 1 52,30

11 HY21211 GOUPILLE DE VERROUILLAGE 2 5,20

12 HY21212 SUPPORT VERROUILLAGE 1 2,90

13 HY21213 RESSORT 1 0,70

Page 27/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

TRANSMISSION 4x4

Nr REFERENCE DESIGNATION QTY PRICE

14 HY21211 GOUPILLE DE VERROUILLAGE 1 5,20

15 HY10001 VIS M5X12 2 0,90

16 HY21216 COLLAR 1 1,40

17 HY21217 PIGNON 31T 1 43,20

18 HY21218 ROULEMENT 25 1 6,80

19 HY21219 BAGUE D'APPUI 1 0,70

20 HY10064 CIRCLIP 1 0,80

21 HY21221 CRABOT 1 21,60

22 HY10065 CIRCLIP 1 0,80

23 HY21223 BAGUE D'APPUI 1 0,90

24 HY21224 PIGNON 24T 1 55,40

25 HY21225 ROULEMENT 25 1 6,40

26 HY21223 BAGUE D'APPUI 1 0,90

Page 28/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

TRANSMISSION 4x4

Nr REFERENCE DESIGNATION QTY PRICE

27 HY21327 ARBRE 1 56,70

28 HY21218 ROULEMENT 25 1 6,80

29 HY21329 PIGNON 35T 1 40,90

30 HY21223 BAGUE D'APPUI 1 0,90

31 HY10064 CIRCLIP 1 0,80

32 HY21332 PIGNON 1 31,40

33 HY21333 WASHER 1 0,60

34 HY10079 ECROU M8 2 0,60

35 HY10068 WASHER 8 2 0,60

36 HY21336 LEVIER COUDE 2 4,90

37 HY10069 CIRCLIP 2 0,90

38 HY21338 WASHER 2 1,20

39 HY21339 DURITE VENTILATION 1 34,50

Page 29/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

TRANSMISSION 4x4

Nr REFERENCE DESIGNATION QTY PRICE

40 HY21340 CONNECTEUR 1 4,50

41 HY21341 FOURCHETTE DE BOITE 1 66,00

42 HY10007 VIS 8 0,70

43 HY10071 RONDELLE 4 8 0,70

44 HY21344 CONTACTEUR CHANG. VITESSE DOWN 1 43,70

45 HY21345B CARTER DE BOITE DROIT POUR 320 1 180,80

46 HY21201 JOINT 25X47X8 1 3,30

47 HY21475 JAUGE 1 5,20

48 HY10275 COLLAR 1 1,20

49 HY10063 ROULEMENT 6204C3 1 8,70

50 HY21350 PIGNON HELICOIDAL 46T 1 59,30

51 HY10073 VIS M6X10 4 0,60

52 HY21351 PLAQUE  MAINTIEN DE ROULEMENT 1 5,40

Page 30/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

TRANSMISSION 4x4

Nr REFERENCE DESIGNATION QTY PRICE

53 HY21453 CIRCLIP 1 0,80

54 HY10074 ROULEMENT 6305ST 1 20,30

55 HY21455 ARBRE DE PIGNON 10T 1 169,50

56 HY21456 FOURCHETTE 1 63,40

57 HY21457 CONTACTEUR CHANG. VITESSE DOWN 1 41,40

58 HY10075 CIRCLIP 2 0,70

59 HY21459 AXE DE SELECTION COURT 1 22,10

60 HY21460 AXE DE SELECTION LONG 1 24,40

61 HY21461 BAGUE D'APPUI 1 0,80

62 HY21483 PIGNON 12 DENTS 1 8,00

63 HY70354 ARBRE 1 82,20

64 HY21464 BAGUE DE CENTRAGE 1 1,50

65 HY21465 CALE D'EPAISSEUR 1 1 0,90

Page 31/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

TRANSMISSION 4x4

Nr REFERENCE DESIGNATION QTY PRICE

66 HY21107 CALE D'EPAISSEUR 1 1,80

67 HY21104 PION 1 1,60

68 HY21468T CACHE 4WD 1 57,50

69 HY21469 SCREW 1 2,90

70 HY21470 WASHER 1 0,60

PART NO 71, SEE THE CHAPTER SUPPORT BRACKET

72 HY21462 ENGRENAGE 1 193,70

73 HY10122 JOINT 18X2.65 1 0,80

74 HY21477 PIGNON 1 21,00

75 HY21480 AXE 1 40,00

76 HY21481 PIGNON 12 DENTS 1 12,00

77 HY21482 CHAINE 1 20,00

78 HY10123 JOINT 14X2.65 4 0,80

Page 32/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

TRANSMISSION 4x4

Nr REFERENCE DESIGNATION QTY PRICE

80 HY25511 ENTRETOISE MAGNETIQUE 1 52,00

81 HY25512 WASHER 1 1,80

82 HY25513 CACHE POUR CAPTEUR DE VITESSE 1 15,00

83 HY27216 JOINT SPI 30X40X5 1 21,80

84 HY10010 VIS M6X15 3 0,60

85 HY10414 CIRCLIP 24MM 1 1,20

Page 33/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

SUPPORT BRACKET

Nr REFERENCE DESIGNATION QTY PRICE

1 HY10076 VIS M12X20 2 0,80

2 HY10054 RONDELLE 12 2 0,70

3 HY27292 SUPPORT BOITE VITESSE DROIT 1 6,00

4 HY21504 SUPPORT BOITE DE VITESSE GAUCH 1 11,90

5 HY10078 VIS M8X30 3 0,60

6 HY10079 ECROU M8 3 0,60

7 HY10028 VIS ARTICULATION TRIANGLE 2 0,60

8 HY21508 SUPPORT BOITE DE VITESSE BAS 1 7,50

9 HY10081 VIS M8X20 3 0,60

10 HY10027 WASHER 10 2 0,50

11 HY10089 RONDELLE 10 2 0,88

12 HY10084 VIS M10X1.25X70 1 1,30

13 HY10015 ECROU M10X125 NOIR 1 1,80

Page 34/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

SUPPORT BRACKET

Nr REFERENCE DESIGNATION QTY PRICE

14 HY21514 SUPPORT BOITE DE VITESSE ARRIE 1 8,60

15 HY21515C ENS. COMPLET BOITE 4X2 1 1 450,00

HY21515SC ENS. COMPLET BOITE 4X4 1 1 550,00

Page 35/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

SHIFT ROD

Nr REFERENCE DESIGNATION QTY PRICE

1 HY21601 CACHE ROND 1 0,80

2 HY21729 SELECTEUR 1 117,53

3 HY21603 POMMEAU 1 3,60

4 HY21604 LEVIER DE VITESSE 1 27,30

5 HY10086 VIS M6X12 4 0,60

6 HY10006 RONDELLE 6 4 0,60

7 HY21607 GEAR SHIFT LEVER TOWER BOOT 1 3,70

8 HY21608 BAGUE PLASTIQUE 1 4,50

9 HY21609 AXE 1 2,10

10 HY21610 RESSORT DE RAPPEL 1 1,90

11 HY21611 RESSORT DE DETENTE 2 1,60

12 HY21612 PION D'INTERDICTION 2 6,50

13 HY21613 AXE 1 4,10

Page 36/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

SHIFT ROD

Nr REFERENCE DESIGNATION QTY PRICE

14 HY21614 CARTER LEVIER DE VITESSE 1 47,30

15 HY21615 O-RING 2 0,70

16 HY21616 AXE SELECTION DE VITESSE 1 27,90

17 HY21617 PATTE DE MAINTIEN 1 22,60

18 HY10010 VIS M6X15 4 0,60

19 HY21619 BAGUE DE REGLAGE 1 28,10

20 HY21620 ROTULE FILETAGE  A DROITE 2 10,30

21 HY10090 NUT M6 3 0,60

22 HY21622 TRINGLERIE LONGUE 1 30,60

23 HY27288 TRINGLERIE COURTE 1 58,60

24 HY21624 NUT M6 2 0,60

25 HY21625 ROTULE FILETAGE A GAUCHE 2 10,30

26 HY21626 AXE DE SELECTION 1 23,80

Page 37/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

SHIFT ROD

Nr REFERENCE DESIGNATION QTY PRICE

27 HY27287 ENSEMBLE ROTULE EXTERIEURE 1 36,50

28 HY21728 ENSEMBLE ROTULE B 1 37,20

Page 38/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

REAR GEAR-BOX

Nr REFERENCE DESIGNATION QTY PRICE

1 HY70286 ENSEMBLE PONT ARRIERE 1 802,80

2 HY70291 TRANSMISSION CASE BODY 1 188,40

3 HY70292 CARTER EXTERIEUR 1 61,20

4 HY70293 JOINT TORIQUE 160X2.65 1 1,80

5 HY10060 VIS M8X28 4 0,60

6 HY10149 VIS M10X1.25X28 2 1,80

7 HY70294 RONDELLE 31 3 1,26

8 HY70295 JOINT TORIQUE 20X3.0 1 0,60

9 HY70296 ECROU M16X1.5 1 1,50

10 HY70297 ARBRE PIGNON 1 145,92

11 HY70298 BAGUE D'ENGRENAGE 1 273,72

12 HY70299 ECROU DE BLOCAGE 1 17,88

13 HY70288 JOINT SPY 30X55X11 2 8,40

Page 39/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

REAR GEAR-BOX

Nr REFERENCE DESIGNATION QTY PRICE

14 HY70289 JOINT SPY 38X85X8 1 7,92

15 HY70290 JOINT SPY 38X80X8 1 7,92

16 HY44104 ROULEMENT A AIGUILLE 1 6,00

17 HY50083 BOUCHON HUILE 1 1,90

18 HY1309280 O-RING 1 0,30

19 HY20818 WASHER 1 1,02

20 HY1309286 VIS 1 0,60

21 HY21340 CONNECTEUR 1 4,50

22 HY70019 ROULEMENT 6306 1 17,88

23 HY10202 ROULEMENT 6006ZZ 1 33,60

24 HY10046 ROULEMENT DOUBLE JOINT 6206ZZ 1 21,30

Page 40/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

4WD FRONT DRIVE AXLE

Nr REFERENCE DESIGNATION QTY PRICE

1 HY24403 SOUFFLET DE CARDAN COTE MOYEU 4 13,00

2 HY24407 CIRCLIP 2 4,60

3 HY24405 CLIP 2 1,10

4 HY25244 EMBOUT DE CARDAN AVANT 2 321,20

5 HY24409 GRAND CIRCLIP 2 2,30

6 HY24404 GRAND COLLIER POUR SOUFFLET 4 1,80

7 HY24402 PETIT COLLIER POUR SOUFFLET 4 1,20

8 HY27289 ENS. CARDAN AVANT 2 500,00

9 HY27336 CARDAN AVANT 2 318,00

Page 41/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

REAR DRIVE AXLE

Nr REFERENCE DESIGNATION QTY PRICE

1 HY27309 ENSEMBLE CARDAN  ARRIERE 1 190,00

2 HY70056 CROISILLON 1 64,20

3 HY70302 JOINT INTERNE 1 54,72

4 HY70304 RESSORT 1 18,60

5 HY70305 GRAND COLLIER 1 14,58

6 HY70306 PROTECTION CAOUTCHOUC 1 14,58

7 HY70307 PROTECTEUR 1 18,60

8 HY70308 PETIT COLLIER 1 14,58

9 HY27310 CARDAN 1 81,00

10 HY70310 ARTICULATION DE CARDAN 1 45,60

11 HY70311 JOINT COULISSANT 1 36,60

12 HY70044 CIRCLIP 20 4 0,60

13 HY20716 ROULEMENT 6201 1 2,40

Page 42/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

STEERING COLUMN

Nr REFERENCE DESIGNATION QTY PRICE

1 HY10079 ECROU M8 2 0,60

2 HY10026 GREASER M6X6 1 1,30

3 HY21903 COLLIER CAOUTCHOUC 2 1,00

4 HY21904 1/2 COLLIER METAL 1 3,10

5 HY21905 PLAQUE CAOUTCHOUC 1 1,90

6 HY21906 SCREW 2 2,80

7 HY31907F COLONNE DE DIRECTION 300 1 38,10

8 HY21906 SCREW 2 2,80

9 HY21909 WASHER 2 2,20

10 HY21910 SUPPORT DE ROULEMENT INFERIEUR 1 3,00

11 HY70778 ROULEMENT 1 36,60

12 HY10079 ECROU M8 2 0,60

13 HY10100 ECROU A CRENEAU 1 0,70

Page 43/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

STEERING COLUMN

Nr REFERENCE DESIGNATION QTY PRICE

14 HY10101 ROULEMENT 6201 1 0,70

15 HY27256 PROTECT COVER 2 0,70

16 HY10106 WASHER 8 2 0,60

DM-10084 STEERING LOCK SYSTEM 1 6,00

Page 44/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

ELECTRICAL SYSTEM

Nr REFERENCE DESIGNATION QTY PRICE

1 HY27290 FAISCEAU 1 182,40

2 HY32038 BIP DE RECUL 1 33,10

3 HY22002A LIMITEUR MARCHE ARRIERE 1 46,90

4 HY22028 CLIGNOTANT AVANT DROIT 1 20,10

5 HY32028 CENTRALE CLIGNOTANTE 1 21,00

6 HY22004 RELAI DEMARREUR 1 23,00

7 HY25530 COLLIER 20 0,36

8 HY22007 REGULATEUR DE CHARGE 1 62,60

9 HY22005 BATTERIE   CB14A-A2 1 79,40

FOR THE BATTERY COVER, SEE THE CHAPTER REAR FENDERS / SEAT

10 HY32003 CABLE POSITIF DE BATTERIE 1 12,30

11 HY32006 MASSE DE LA BATTERIE 1 12,30

12 HY22018 SANGLE MAINTIEN BATTERIE 1 2,00

Page 45/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

ELECTRICAL SYSTEM

Nr REFERENCE DESIGNATION QTY PRICE

13 HY32021 CONDENSATEUR 1 20,90

14 HY27340 BOITIER ELECTRONIQUE CDI HY400 1 50,00

16 HY27258 FAISCEAU+CAPTEUR DE VITESSE 1 41,70

FOR THE MAGNETIC BUSH, SEE THE CHAPTERS TRANSMISSION

23 HY22008 BUZZER ALARME TEMPERATURE EAU 1 49,60

24 HY22019 FUSIBLE 7,5 AMPERES 1 4,75

25 HY22020 FUSIBLE 15 AMPERES 2 4,75

26 HY22021 FUSIBLE 3 AMPERES 1 4,75

27 HY32021 CONDENSATEUR 1 20,90

28 HY22012 BOBINE D'ALLUMAGE 1 14,50

29 HY32039 CLIGNOTANT AVANT DROIT 1 21,00

30 HY32041 CLIGNOTANT AVANT GAUCHE 1 21,00

HY32045 AMPOULE DE CLIGNOTANT ORANGE 4 3,00

Page 46/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

ELECTRICAL SYSTEM

Nr REFERENCE DESIGNATION QTY PRICE

HY22024 ANTIPARASITE 1 9,00

183 ANTIVOL QUAD  HYTRACK / DINLI 1 208,19

Page 47/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

BRAKE SYSTEM

Nr REFERENCE DESIGNATION QTY PRICE

1 HY2211120 LEVIER DE FREIN GAUCHE 1 16,90

2 HY27320 MAITRE CYLINDRE AVEC SUPPORT 1 99,60

3 HY22102 DURITE FREIN AVANT 1 37,70

4 HY27321 DISQUE DE FREIN AVANT 2 67,20

5 HY32205A ETRIER FREIN GAUCHE 1 72,40

6 HY21811 COLLIER 2 2,20

7 HY22229 FLEXIBLE DE FREIN AVANT 1 41,30

8 HY32105 TUBE CAOUTCHOUC 1 3 4,50

9 HY27313 DURITE AVANT GAUCHE 1 40,00

10 HY32107 REPARTITEUR 3 ENTREES/SORTIES 1 10,80

11 HY27314 TUBE RIGIDE 1 40,00

12 HY27315 TUBE 1 40,00

13 HY70537 DISQUE DE FREIN ARRIERE 2 82,20

Page 48/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

BRAKE SYSTEM

Nr REFERENCE DESIGNATION QTY PRICE

14 HY32205A ETRIER FREIN GAUCHE 1 72,40

15 HY27316 TUBE 1 40,00

16 HY27318 TUBE 1 40,00

17 HY27319 MAITRE CYLINDRE 1 89,40

18 HY27261 TUYAU 1 47,20

19 HY70496 RESERVOIR DE FREIN 1 10,92

20 HY10109 ECROU M5 1 0,60

21 HY10108 VIS M5X12 1 0,60

22 HY27317 TUBE RIGIDE 1 40,00

23 HY32233 FLEXIBLE FREIN AVANT DROIT 1 46,40

24 HY32231A ETRIER DE FREIN ARRIERE DROIT 1 72,40

25 HY70483 DURITE DE FREIN 1 36,60

26 HY70548 REPARTITEUR FREINAGE 4 E/S) 1 18,60

Page 49/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

BRAKE SYSTEM

Nr REFERENCE DESIGNATION QTY PRICE

27 HY10111 VIS M5X15 4 0,60

28 HY10278 VIS 6X22 2 0,60

29 HY27277 SUPPORT RETRO GAUCHE 1 5,00

30 HY32243F SUPPORT DE FREIN A PIED 1 18,60

31 HY22242 RESSORT DE RAPPEL 1 1,90

32 HY32241F PEDALE DE FREIN 1 18,70

33 HY10115 CAVALIER 1 0,90

34 HY22238 WASHER 1 1,90

35 HY10113 VIS M5X8 7 0,60

37 HY22235 FIXATION DURITE 2 CABLE 1 0,40

38 HY22236 FIXATION DURITE 1 CABLE 3 0,30

39 HY22243 CAPTEUR POUR LEVIER DE FREIN 1 17,10

40 HY32246 RESSORT 1 7,00

Page 50/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

BRAKE SYSTEM

Nr REFERENCE DESIGNATION QTY PRICE

41 HY25129 KIT JOINT REPARATION ETRIER 1 16,00

43 HY22245 JEU DE PLAQUETTES FREIN 1 24,90

44 HY10004 NUT M6 2 0,60

45 HY10110 SCREW M6X20 3 0,60

Page 51/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

BRAKING SYSTEM OF THE PARKING BRAKE

Nr REFERENCE DESIGNATION QTY PRICE

1 HY70636 ENSEMBLE POIGNEE DE FREIN 1 33,00

2 HY70637 CABLE DE FREIN 1 15,18

3 HY70638 ETRIER DE FREIN 1 145,92

4 HY70643 DISQUE DE FREIN 1 71,40

5 HY70645 JEU DE PLAQUETTES DE FREIN 2 28,80

6 HY10218 VIS M8X40 2 0,60

Page 52/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

PARKING BRAKE CALIPER (HY70638)

Nr REFERENCE DESIGNATION QTY PRICE

1 HY26293 SCREW 1 0,70

2 HY10276 VIS M8 X 25 2 0,60

3 HY10080 ECROU M8 1 0,60

4 HY27037 RESSORT 1 2,70

5 HY26877 LEVIER 1 7,20

6 HY26878 SUPPORT DE CABLE DE FREIN 1 6,00

7 HY26296 RONDELLE SUPERIEURE 1 7,20

8 HY26239 BILLE 3 1,00

9 HY26297 RONDELLE A BILLE 1 1,50

10 HY26295 AXE 1 14,40

11 HY26298 RESSORT 1 2,70

12 HY26271 VIS M8 X 40 2 0,70

13 HY27032 CLIP 2 1,00

Page 53/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

PARKING BRAKE CALIPER (HY70638)

Nr REFERENCE DESIGNATION QTY PRICE

14 HY26294 SUPPORT SUPERIEUR 1 17,80

15 HY26879 AXE 1 7,20

16 HY26880 COLLAR 2 9,00

17 HY26292 JEU DE PLAQUETTES DE FREIN 1 28,80

18 HY26294 SUPPORT SUPERIEUR 1 17,80

19 HY26238 ECROU 2 0,70

20 HY26874 ENSEMBLE SUPPORT 1 44,40

21 HY26875 AXE 2 10,70

22 HY26876 SUPPORT 1 14,40

Page 54/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

RACK / BUMPER

Nr REFERENCE DESIGNATION QTY PRICE

1 HY22314 PHARE DROIT 1 105,00

2 HY22315 SUPPORT DE PHARE DROIT 1 2 3,40

3 HY22316 SUPPORT DE PHARE DROIT 2 1 1,20

4 HY22317 CACHE TREUIL AVANT CENTRAL 1 11,10

5 HY22318 CALANDRE AVANT 1 72,20

6 HY22319 SUPPORT DE PHARE DROIT 3 1 1,20

7 HY22367 SUPPORT INFERIEUR CALANDRE AVT 1 91,20

8 HY22372 SUPPORT DE PHARE 1 8,00

9 HY22345 FERRURE AVANT GAUCHE 1 10,40

10 HY22368 SUPPORT DE COFFRE GAUCHE 1 20,80

11 HY22327 AXE 2 2,60

12 HY22328 COFFRE AVANT 1 101,70

13 HY22320 REFLECTEUR AVANT ORANGE 2 8,00

Page 55/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

RACK / BUMPER

Nr REFERENCE DESIGNATION QTY PRICE

14 HY22329 TRAPPE D'ACCES AMPOULE GAUCHE 1 2,50

15 HY22369 VEROUILLAGE DE COFFRE 1 7,80

16 HY22331 JOINT DE COFFRE AVANT 1 9,90

17 HY22332 COUVERCLE DE COFFRE AVANT 1 96,00

18 HY22333 BARRE SUPPORT COUVERCLE 1 17,40

19 HY22334 CABLE 1 4,20

20 HY22335 RENFORT INFERIEUR DE COFFRE 1 6,20

21 HY22336 TRAPPE REMPLISSAGE RADIATEUR 1 2,00

22 HY22337 PARE CHOC AVANT 1 55,00

23 HY22338 TRAPPE D'ACCES AMPOULE DROITE 1 1,60

24 HY22339 CACHE GAUCHE 1 3,00

25 HY22340 CACHE DROIT 1 3,00

26 HY22341 SUPPORT DE COFFRE DROIT 1 20,80

Page 56/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

RACK / BUMPER

Nr REFERENCE DESIGNATION QTY PRICE

27 HY22342 FERRURE AVANT DROITE 1 10,40

28 HY22322 PLAQUE SUPPORT TREUIL 1 27,69

29 HY22343 ECOPE DE RADIATEUR DROITE 1 7,80

30 HY22344 CROCHET DE VERROUILLAGE 1 2,60

31 HY10081 VIS M8X20 4 0,60

32 HY22312W PATTE DE MAINTIEN DROITE 1 7,80

33 HY10183 VIS M6X16 4 0,60

34 HY10110 SCREW M6X20 2 0,60

35 HY10178 SCREW 6 0,60

36 HY22346 ECROU PRISONNIER 6 0,10

37 HY10110 SCREW M6X20 4 0,60

38 HY10419 VIS M8X66 4 0,30

39 HY10118 VIS M8X95 2 0,76

Page 57/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

RACK / BUMPER

Nr REFERENCE DESIGNATION QTY PRICE

40 HY10418 CLIPS 2 0,10

41 HY10109 ECROU M5 2 0,60

42 HY10155 VIS M6X10 2 0,60

43 HY10178 SCREW 4 0,60

44 HY22347 BOUCLE D ATTACHE 6 3,90

45 HY20315 SCREW M6X20 6 0,60

47 HY10178 SCREW 2 0,60

48 HY22346 ECROU PRISONNIER 2 0,10

49 HY10059 VIS M8X25 2 0,60

50 HY22349 EMBOUT CAOUTCHOUC 2 0,70

51 HY10178 SCREW 2 0,60

52 HY10079 ECROU M8 2 0,60

53 HY22306W PATTE DE MAINTIEN GAUCHE 1 7,80

Page 58/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

RACK / BUMPER

Nr REFERENCE DESIGNATION QTY PRICE

54 HY22351 RONDELLE CAOUTCHOUC 2 2,00

55 HY22352 RONDELLE CAOUTCHOUC 2 1,40

56 HY10421 RONDELLE 5 2 0,10

57 HY10395 VIS M5X25 2 0,10

58 HY22353 PHARE GAUCHE 1 105,00

59 HY22371 AMPOULE DE PHARE AVANT 35W/35W 2 6,00

60 HY27274 RONDELLE CAOUTCHOUC 6 0,30

Page 59/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

REAR RACK

Nr REFERENCE DESIGNATION QTY PRICE

1 HY22354 SUPPORT ARRIERE 1 1 23,40

2 HY22355 FERRURE ARRIERE GAUCHE 1 29,50

3 HY10055 VIS M8X45 4 0,60

4 HY22356 PLAQUE SUPPORT ARRIERE 2 6,70

5 HY10078 VIS M8X30 4 0,60

6 HY22357 FERRURE ARRIERE DROITE 1 29,50

7 HY22358 SUPPORT DE PORTE BAGAGE AR 1 28,00

8 HY22359 PORTE BAGAGE ARRIERE 1 170,00

9 HY22360 POIGNEE DE MAINTIEN PASSAGER 2 5,20

10 HY22361 CLIGNO ARG 320/ AVD 290/JOBBER 1 21,00

11 HY22362 SUPPORT ARR GAUCHE CLIGNOTANT 1 1,20

12 HY22363 CLIGNO ARD 320 /AVG 290/JOBBER 1 21,00

13 HY22364 CACHE PLASTIQUE ARRIERE FEUX 1 8,90

Page 60/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

REAR RACK

Nr REFERENCE DESIGNATION QTY PRICE

14 HY10059 VIS M8X25 10 0,60

15 HY22365 SUPPORT ARR DROIT CLIGNOTANT 1 1,20

16 HY10178 SCREW 4 0,60

17 HY22346 ECROU PRISONNIER 4 0,10

18 HY10055 VIS M8X45 2 0,60

19 HY10119 VIS M8X72 2 0,60

20 HY22321 REAR RED REFLECTOR 2 8,65

21 HY10109 ECROU M5 1 0,60

22 HY22010 FEU ARRIERE 1 59,10

23 HY22017 AMPOULE FEU ARRIERE 21W / 5W 1 2,60

Page 61/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

CYLINDER

Nr REFERENCE DESIGNATION QTY PRICE

1 HY27337 CULASSE 352CC 1 465,00

2 HY27338 GUIDE DE SOUPAPE 2 10,20

3 HY10112 CIRCLIP 12 2 0,90

4 HY10128 VIS M6X12 1 0,60

5 HY22405 JOINT 6 1 1,30

6 HY10014 GOUJON SORTIE ECHAPP.  M8X25 2 0,90

7 HY22407A ENSEMBLE PRISE D'AIR JOBBER 1 20,00

8 HY22408 JOINT TORIQUE  95X3.3 1 7,60

9 HY10008 SCREW M6X20 2 0,60

10 HY22410 BOUCHON REGLAGE SOUPAPE ADMISS 1 7,00

11 HY22411 BOUCHON REGLAGE SOUPAPE ECHAP. 1 10,70

12 HY22412 JOINT TORIQUE 57.5X2.3 2 4,20

13 HY10008 SCREW M6X20 5 0,60

Page 62/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

CYLINDER

Nr REFERENCE DESIGNATION QTY PRICE

14 HY22414 ECROU M8 BORGNE 4 1,20

15 HY22415 RONDELLE PLATE 8 4 0,60

16 HY27221 JOINT DE CULASSE 1 9,60

17 HY22417 PION 14X16 2 1,60

18 HY27339 GOUJON 6X130 2 0,30

19 HY22419 BOUGIE  DR8EA 1 12,90

20 HY27228 CYLINDRE 1 76,00

21 HY27226 JOINT D EMBASE 1 1,70

22 HY22422 PION 10X14 2 3,40

23 HY22423 TUYAU ADMISSION 1 1 9,30

24 HY43514 CLIP 2 1,00

25 HY25112 SONDE DE TEMPERATURE MOTEUR 1 30,60

DM-10086 HEAD CYLINDER OUTPUT WATER CONNECTOR 1 3,00

Page 63/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

CRANKSHAFT COMP

Nr REFERENCE DESIGNATION QTY PRICE

1 HY27238 EMBIELLAGE 1 227,00

2 HY22502 ECROU M16X1 1 1,30

3 HY22503 RONDELLE PLATE 16 1 1,90

4 HY22504 CLAVETTE 1 3,20

5 HY27241 PISTON 1 13,50

6 HY27242 JEU DE SEGMENTS 1 9,00

7 HY27240 AXE DE PISTON 1 2,30

8 HY27239 CLIPS DE PISTON 2 0,20

Page 64/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

VALVES

Nr REFERENCE DESIGNATION QTY PRICE

1 HY27222 SOUPAPE D ADMISSION 1 9,00

2 HY27223 SOUPAPE D ECHAPPEMENT 1 4,60

3 HY22603 WASHER 2 1,50

4 HY22604 RESSORT INTERIEUR 2 3,80

5 HY22605 RESSORT EXTERIEUR 2 6,60

6 HY22606 JOINT QUEUE DE SOUPAPE 2 9,70

7 HY22607 COUPELLE 2 1,80

8 HY22608 DEMI-LUNE 4 1,00

9 HY22609 CULBUTEUR 2 19,70

10 HY22610 AXE 1 4,50

11 HY22611 AXE 1 5,80

12 HY22612 JOINT TORIQUE 9X2 1 0,30

13 HY22613 VIS REGLAGE 2 1,90

Page 65/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

VALVES

Nr REFERENCE DESIGNATION QTY PRICE

14 HY22614 ECROU M6X0.75 2 1,80

Page 66/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

CAMSHAFT CHAIN

Nr REFERENCE DESIGNATION QTY PRICE

1 HY27234 ENS ARBRE A CAMES 1 47,70

2 HY10012 ROULEMENT 1 16,50

3 HY10013 ROULEMENT 6202Z 1 10,30

4 HY27237 PLAQUE 1 1,20

5 HY10128 VIS M6X12 2 0,60

6 HY27236 PLAQUE FREIN 1 1,20

7 HY22707 PIGNON ENTRAINEMENT 1 21,00

8 HY10024 PION 4X10 1 2,30

9 HY10025 VIS M10X1.25X25 1 0,60

10 HY22710 RONDELLE PLATE 10 1 2,20

11 HY22711 WASHER 1 2,30

12 HY27201 CHAINE 340 MM 1 36,00

13 HY27203 PATIN FIXE 1 3,70

Page 67/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

CAMSHAFT CHAIN

Nr REFERENCE DESIGNATION QTY PRICE

14 HY27202 PATIN MOBILE 1 8,50

15 HY22715A TENDEUR CHAINE 1 19,30

16 HY22716 JOINT TENDEUR DE CHAINE 1 2,00

17 HY10036 VIS M6X14 2 0,60

18 HY22718 VIS ARTICULATION PATIN TENSION 1 2,10

19 HY22719 JOINT TORIQUE 14.5X1.8 1 0,40

20 HY27235 ARBRE A CAMES 1 34,80

Page 68/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

WATER PUMP ASSY

Nr REFERENCE DESIGNATION QTY PRICE

1 HY22801 AILETTE POMPE A EAU 1 21,70

2 HY22802 CACHE CARTER POMPE A EAU 1 27,10

3 HY22803 JOINT DE POMPE A EAU 1 2,70

4 HY10041 VIS M6X35 3 0,60

5 HY10043 ROULEMENT 6000 1 7,30

6 HY22806 CACHE POMPE A EAU 1 29,40

7 HY22807 JOINT SPI 10X21X5 1 6,70

8 HY22808 JOINT CYCLAME 1 9,40

9 HY10044 CIRCLIP 10 1 0,90

10 HY22405 JOINT 6 1 1,30

11 HY10049 JOINT TORIQUE 33.5X2.65 1 1,90

12 HY27230 AXE 1 3,40

13 HY10070 PION C3X22 1 1,10

Page 69/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

WATER PUMP ASSY

Nr REFERENCE DESIGNATION QTY PRICE

14 HY22814 RONDELLE PLATE 8 2 1,90

15 HY22815 PIGNON D'ENTRAINEMENT 1 4,90

16 HY10072 CIRCLIP 8 1 0,70

17 HY27229 PIPE A EAU 1 13,70

18 HY10082 JOINT TORIQUE 15.5X2.5 2 1,20

19 HY10083 VIS M6X15 2 0,80

20 HY22820 ENSEMBLE POMPE A EAU 1 45,00

Page 70/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

RADIATOR

Nr REFERENCE DESIGNATION QTY PRICE

1 HY22901 THERMOSTAT / CALORSTAT 1 19,20

2 HY22902 COUVERCLE DE CALORSTAT 1 8,70

3 HY10085 ECROU M6 2 0,90

4 HY22904T ENSEMBLE RADIATEUR 1 260,90

5 HY22905 VENTILATEUR 2 71,50

6 HY10087 VIS M6X9 6 0,60

7 HY22907 BOUCHON RADIATEUR + GOULOT 1 13,76

8 HY23028 TUYAU 2 1 4,00

9 HY22909T DURITE REMPLISSAGE RADIATEUR 1 13,30

10 HY22910T DURITE INFERIEURE 1 19,00

11 HY22911 DURITE D'ALIMENTATION 1 17,10

12 HY22912 RESSORT DE COMPRESSION 2 0,80

13 HY22913 COLLIER DE DURITE 1 6 2,40

Page 71/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

RADIATOR

Nr REFERENCE DESIGNATION QTY PRICE

14 HY22914 COLLIER DE DURITE 2 2 0,80

15 HY22915 DURITE 1 1 2,70

16 HY10110 SCREW M6X20 2 0,60

17 HY22917 SILENT BLOC RADIATEUR 2 1,80

18 HY22918 COLLAR 2 3,20

19 HY22919 SONDE TERMOSTATIQUE 1 13,00

20 HY10004 NUT M6 2 0,60

21 HY10089 RONDELLE 10 2 0,88

22 HY10094 CLIP 2X20 2 0,90

23 HY22923 TUYAU 1 1 4,90

24 HY22924 CLIP 2 2,20

25 HY22925 VASE D'EXPANTION 1 11,50

26 HY22926 BOUCHON DE VASE EXPANSION 1 2,70

Page 72/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

RADIATOR

Nr REFERENCE DESIGNATION QTY PRICE

27 HY10140 VIS M6X12 1 0,60

28 HY23001 BRASS CONNECTOR ON CYLINDER HEAD 1 5,00

Page 73/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

OIL PUMP

Nr REFERENCE DESIGNATION QTY PRICE

1 HY27245 POMPE A HUILE 1 7,60

2 HY10096 PION 3X12 2 2,20

3 HY23103 PIGNON 1 13,70

4 HY10097 PION C3X22 1 0,60

5 HY22814 RONDELLE PLATE 8 1 1,90

6 HY10130 CIRCLIP 6MM 1 0,90

7 HY23107 WASHER 1 2,00

8 HY10098 ECROU M6 2 0,60

9 HY23109 CREPINE 1 1,80

10 HY23110 RESSORT DE COMPRESSION 1 10,60

11 HY23111 BOUCHON DE VIDANGE MOTEUR 1 10,60

12 HY23112 JOINT TORIQUE 36X3.5 1 0,40

Page 74/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

AIR CLEANER

Nr REFERENCE DESIGNATION QTY PRICE

1 HY27220 PIPE D'ADMISSION 1 42,60

2 HY23202 JOINT TORIQUE 35X2 2 3,00

3 HY10085 ECROU M6 2 0,90

4 HY27225 CALE PIPE 1 0,70

5 HY23205 COLLIER 1 2,30

6 HY23206 COLLIER 1 3,20

7 HY27286 TUBE 1 42,60

8 HY23208 COLLIER 1 1,90

9 HY23209 COLLIER 1 2,30

10 HY23210 CAPOT FILTRE A AIR 1 5,20

11 HY23211 BOITE FILTRE A AIR 1 14,80

12 HY23212 FILTRE A AIR 1 24,00

13 HY23213 CACHE FILTRE 1 3,90

Page 75/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

AIR CLEANER

Nr REFERENCE DESIGNATION QTY PRICE

14 HY23214 CLIP 2 2,30

15 HY23215 TUBE 1 2,30

16 HY23216 ECROU 1 1,40

17 HY23217 ENSEMBLE FILTRE A AIR 1 118,00

18 HY23218 CLIP CAPOT FILTRE A AIR 6 2,20

19 HY25587 JOINT FILTRE A AIR 1 9,80

20 HY25588 RONDELLE FILTRE A AIR 1 9,60

21 HY25589 MANCHON FIXE FILTRE A AIR 1 9,80

22 HY25600 RONDELLE CAOUTCHOUC 2 4,80

23 HY10110 SCREW M6X20 2 0,60

Page 76/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

CARBURETOR

Nr REFERENCE DESIGNATION QTY PRICE

1 HY27224 CARBURATEUR 1 516,50

2 HY70180 ENSEMBLE CABLE STARTER 1 10,92

Page 77/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

EXHAUST

Nr REFERENCE DESIGNATION QTY PRICE

1 HY27305 LIGNE ECHAPPEMENT 1 109,20

2 HY27308 RESSORT 1 2,40

3 HY23403 JOINT SORTIE ECHAPPEMENT 1 5,80

4 HY10106 WASHER 8 2 0,60

5 HY27209 GOUJON M10X1.25X62 2 0,50

6 HY10117 RONDELLE PLATE 10 4 0,60

7 HY23408 RESSORT 5 0,80

8 HY27304 SILENT BLOCK 2 6,00

9 HY10099 ECROU M8 BLOC VIS 1 0,60

10 HY25510 SILENCIEUX 1 177,40

11 HY10015 ECROU M10X125 NOIR 1 1,80

12 HY27306 TUBE ECHAPPEMENT 1 44,00

13 HY27307 COUDE ECHAPPEMENT 1 23,90

Page 78/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

EXHAUST

Nr REFERENCE DESIGNATION QTY PRICE

14 HY43510 WASHER 1 1,00

15 HY43511 TUBE 1 7,30

16 HY10004 NUT M6 2 0,60

17 HY43513 CLIP 1 1,00

18 HY43512 TUYAU 1 7,30

19 HY43514 CLIP 1 1,00

20 HY43525 TUBE 1 7,30

21 HY43518 DURITE A 1 5,30

22 HY43519 COLLIER 3 0,80

23 HY43520 TUYAU 1 6,10

24 HY43521 CLIP 1 1,00

25 HY43522 CLIP 1 1,00

26 HY43523 CACHE 1 28,80

Page 79/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

EXHAUST

Nr REFERENCE DESIGNATION QTY PRICE

27 HY33227 SUPPORT DE VALVE EURO 2 1 6,90

28 HY10140 VIS M6X12 4 0,60

29 HY20316 SILENT BLOCK 2 2,00

30 HY43516 POMPE ANTI-POLLUTION 1 45,30

31 HY10263 VIS M6X29 2 0,60

32 HY10263 VIS M6X29 2 0,60

124 MUFFLER SPORT HYTRACK MODEL 1 208,19

Page 80/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

CRANKCASE

Nr REFERENCE DESIGNATION QTY PRICE

1 HY27204-D CARTER DROIT 275CC 1 303,00

HY27204-G CARTER GAUCHE 275CC 1 303,00

2 HY23502 SILENT BLOC MOTEUR SUPERIEUR 2 31,30

3 HY23503 COLLAR 2 11,70

4 HY23504 O-RING 4 1,30

5 HY23505 RONDELLE PLATE 16 2 2,70

6 HY10121 CIRCLIP 16 2 0,90

7 HY22422 PION 10X14 2 3,40

8 HY23508 VIS ASSEMBLAGE CARTER M6X70 4 1,10

9 HY10196 VIS M6X100 5 1,10

10 HY23510 JOINT SPI 30X45X5 1 20,50

11 HY27205 GOUJON M8X253.6 4 2,00

12 HY23512 CACHE ALUMINIUM 1 26,20

Page 81/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

CRANKCASE

Nr REFERENCE DESIGNATION QTY PRICE

13 HY10036 VIS M6X14 2 0,60

14 HY27232 CACHE ARRIERE 1 41,50

15 HY23515 RUBBER BUSH 1 8,50

Page 82/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

HIGH-POWER CLUTCH STAND ASSY

Nr REFERENCE DESIGNATION QTY PRICE

1 HY27231 CACHE CARTER GAUCHE 1 89,30

2 HY10177 VIS M6X25 6 0,70

3 HY23603 COLLIER B 1 1,10

4 HY23604 MANCHE DE REFROIDISSEMENT 1 6,20

5 HY23605 GRILLE 1 1,65

6 HY23606 GRILLE 1 2,70

7 HY23607 PRISE D'AIR 1 6,30

8 HY23608 COLLIER A 1 1,20

9 HY23609 JOINT ETANCHEITE HUILE 1 6,80

10 HY22422 PION 10X14 4 3,40

11 HY23611 JAUGE A HUILE 1 5,90

12 HY10122 JOINT 18X2.65 1 0,80

13 HY23613 BOUCHON DE CALAGE MOTEUR 1 2,50

Page 83/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

HIGH-POWER CLUTCH STAND ASSY

Nr REFERENCE DESIGNATION QTY PRICE

14 HY10123 JOINT 14X2.65 1 0,80

15 HY23615 VIS M6X25 15 0,60

16 HY23616 CACHE CARTER DROIT 1 52,90

17 HY23617 JOINT DE CARTER DROIT ALLUMAGE 1 2,30

18 HY27233 CACHE CARTER AVANT ROND 1 41,50

19 HY10110 SCREW M6X20 2 0,60

20 HY27208 VIS 6X110 2 2,00

Page 84/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

STARTER

Nr REFERENCE DESIGNATION QTY PRICE

1 HY23701 PIGNON D'ENTRAINEMENT 1 28,40

2 HY23702 ARBRE 1 54,60

3 HY23703 RONDELLE 12 1 2,30

4 HY10129 CIRCLIPS 12 1 0,80

5 HY23705 PIGNON REDUCTEUR DE VITESSE 1 58,50

6 HY23706 ROUE LIBRE DEBRAYABLE 1 80,50

7 HY10131 VIS M8X16 3 0,90

Page 85/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

DRIVE PULLEY ASSY

Nr REFERENCE DESIGNATION QTY PRICE

1 HY27251 CLOCHE EMBRAYAGE 1 80,40

2 HY23802 NUT M14X1 1 1,10

3 HY23803 POULIE PRIMAIRE 1 107,40

4 HY23804 JOINT SPI 28X36X4 2 12,90

5 HY23805 JEU DE 8 GALETS DE VARIATEUR 1 15,10

6 HY27246 RAMP PLATE 1 28,20

7 HY23807 PIECES D'ACCOUPLEMENT 4 5,10

8 HY23808 JOINT TORIQUE 118X2.5 1 6,70

9 HY23809 MASQUE 1 6,70

10 HY10132 SCREW M4X12 4 0,60

11 HY23811 COLLAR 4 5,10

12 HY27252 AXE 1 49,80

13 HY23813 RONDELLE PLATE 4 4 4,10

Page 86/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

DRIVE PULLEY ASSY

Nr REFERENCE DESIGNATION QTY PRICE

14 HY23814 RONDELLE PLATE 14 1 1,90

15 HY23815 COURROIE V 1 55,20

16 HY27247 FLASQUE A AILETTES 1 42,00

17 HY23802 NUT M14X1 1 1,10

18 HY23818 FLASQUE DE POULIE 1 152,50

19 HY23819 FLASQUE DE POULIE 1 114,34

20 HY23820 JOINT SPI 2 6,70

21 HY23821 JOINT TORIQUE 45X1.8 2 3,70

22 HY23822 ROULEMENT 6201 4 2,30

23 HY23923 RESSORT 1 6,80

24 HY23924 SUPPORT DE RESSORT 1 4,50

25 HY27249 MASSELOTTE EMBRAYAGE 1 397,20

26 HY27250 RESSORT EMBRAYAGE 3 29,80

Page 87/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

DRIVE PULLEY ASSY

Nr REFERENCE DESIGNATION QTY PRICE

27 HY10133 CIRCLIPS 8 3 0,90

28 HY23928 ECROU M36X1.5 1 4,50

29 HY27248 SEC. SLIDING SHEAVE COMP. 1 120,00

30 HY27254 VARIATEUR 1 117,20

31 HY27253 ECROU 21.5 1 2,40

Page 88/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

HIGH-POWER CLUTCH STAND ASSY

Nr REFERENCE DESIGNATION QTY PRICE

1 HY23941 SUPPORT 1 0,60

2 HY10424 VIS M8X12 4 0,10

3 HY23942 COLLAR 1 1,60

4 HY23943 SUPPORT ROULEMENT EMBRAYAGE 1 62,50

5 HY10081 VIS M8X20 4 0,60

6 HY23944 COLLAR 1 6,00

7 HY10321 JOINT TORIQUE 28,5X1,8 1 0,20

8 HY10426 ROULEMENT 6906Z 1 28,00

Page 89/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

GENERATOR ASSY

Nr REFERENCE DESIGNATION QTY PRICE

1 HY24001 STATOR 1 104,30

2 HY27244 ROTOR 1 93,00

3 HY10134 VIS M5X25 3 0,60

4 HY10135 VIS M5X12 2 0,60

5 HY27243 ENSEMBLE ALTERNATEUR 1 45,50

6 HY24006 CAPTEUR D'ALLUMAGE 1 23,30

Page 90/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

STARTER ASSY

Nr REFERENCE DESIGNATION QTY PRICE

1 HY24101 ENSEMBLE DEMARREUR 1 134,30

2 HY24102 PORTE-CHARBONS 1 48,70

3 HY24103 CORDON DE DEMARREUR 1 40,30

4 HY24104 SCREW 2 2,30

5 HY24105 WASHER 2 5,80

6 HY24106 JOINT TORIQUE 24.5X3 1 4,40

7 HY24107 ECROU M6 2 0,60

Page 91/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

ENGINE / ENGINE MOUNT

Nr REFERENCE DESIGNATION QTY PRICE

1 HY27291 UPPER ENGINE MOUNT 1 38,40

2 HY24202 VIS SUPPORT MOTEUR 2 14,60

PART NO 3, TO ORDER THE ASSY WITH SILENT BLOCK + ENGINE MOUNT, PLEASE SEE THE PART NO C

3 HY24203 SILENT BLOCK 2 8,30

4 HY10136 RONDELLE 2 1,00

5 HY27294 GOUJON 10X235 1 72,00

PART NO 6, TO ORDER THE ASSY WITH SILENT BLOCK + ENGINE MOUNT, PLEASE SEE THE PART NO A OR C

6 HY24206 SILENT BLOCK 4 7,20

7 HY27293 COLLAR 1 4,80

8 HY10015 ECROU M10X125 NOIR 1 1,80

9 HY10016 VIS M10X1.25X55 1 0,80

10 HY27295 WASHER 1 4,80

11 HY10015 ECROU M10X125 NOIR 1 1,80

12 HY10137 VIS M8X120 1 6,50

Page 92/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

ENGINE / ENGINE MOUNT

Nr REFERENCE DESIGNATION QTY PRICE

13 HY24213 ENTRETOISE GAUCHE 2 4,50

14 HY24214 DOUBLE SILENT BLOC GAUCHE 1 8,10

15 HY10079 ECROU M8 1 0,60

16 HY10154 VIS M10X70 1 0,60

18 HY24218 DOUBLE SILENT BLOC INF DROIT 1 7,60

19 HY10015 ECROU M10X125 NOIR 1 1,80

20 HY10139 VIS M8X65 1 0,80

22 HY27218 ENSEMBLE MOTEUR HY400 1 4 812,80

PART NO 23, TO ORDER THE ASSY WITH SILENT BLOCK + ENGINE MOUNT, PLEASE SEE THE PART NO B

23 HY24223 SILENT BLOCK 2 14,60

A DM-10080 LOWER RIGHT ENGINE MOUNT 1 22,00

B DM-10081 LOWER LEFT ENGINE MOUNT 1 37,30

C DM-10212 FEUX ARRIERE POUR BENNE 6 ROUE 1 20,00

Page 93/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

4WD FRONT GEAR-BOX

Nr REFERENCE DESIGNATION QTY PRICE

1 HY10059 VIS M8X25 7 0,60

2 HY24302 RENIFLAR DE PONT 1 1,50

3 HY24303 CARTER GAUCHE 275CC 1 43,40

4 HY10122 JOINT 18X2.65 1 0,80

5 HY50083 BOUCHON HUILE 1 1,90

6 HY24306 SUPPORT COURONNE 1 571,50

7 HY24307 SHEAVE PRIMARY FIXED 1 197,10

8 HY10202 ROULEMENT 6006ZZ 2 33,60

9 HY24309 CARTER DROIT 275CC 1 42,90

10 HY24310 JOINT SPI SDD 722X48X11 2 25,50

11 HY24311 ARBRE PIGNON 1 132,20

12 HY10063 ROULEMENT 6204C3 2 8,70

13 HY10074 ROULEMENT 6305ST 1 20,30

Page 94/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

4WD FRONT GEAR-BOX

Nr REFERENCE DESIGNATION QTY PRICE

14 HY24314 PLAQUE FREIN 1 3,30

15 HY10287 VIS M6X12 4 0,60

16 HY24316 PIGNON 1 49,90

17 HY24317 PIGNON 1 53,30

18 HY24318 CRABOT 1 51,00

19 HY24319 ARBRE 1 53,40

20 HY10061 ROULEMENT 6205-2RS 1 11,00

21 HY24321 JOINT SPI TC 25X47X7 1 6,70

22 HY10110 SCREW M6X20 6 0,60

23 HY10160 VIS M6X70 1 1,10

24 HY24324 CARTER ARRIERE 1 40,60

25 HY24325 FOURCHETTE 1 15,10

26 HY24326 AXE 1 13,90

Page 95/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

4WD FRONT GEAR-BOX

Nr REFERENCE DESIGNATION QTY PRICE

27 HY24327 PION 1 1,10

28 HY24328 AXE DE SELECTION 1 31,90

29 HY24429 CARTER DESSUS 1 43,50

30 HY10203 BILLE DIAMETRE 8 1 1,10

31 HY24431 SCREW 1 2,30

32 HY24433 AXE DE RETENUE 1 2,30

33 HY24432 WASHER 1 3,40

34 HY10183 VIS M6X16 4 0,60

35 HY24435 JOINT SPI TC 12X28X7 1 7,00

36 HY10168 VIS M8X16 1 1,10

37 HY24437 CARDAN PONT AVANT 1 240,00

38 HY24438 PLAQUE 1 40,60

39 HY10217 VIS M6X32 2 0,72

Page 96/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

4WD FRONT GEAR-BOX

Nr REFERENCE DESIGNATION QTY PRICE

40 HY10163 VIS M10X1.25X20 4 0,80

41 HY10209 NUT M10X1.25 6 0,60

42 HY10355 VIS M8X16 1 0,60

43 HY10356 ECROU M8 1 0,60

44 HY24444 CAPTEUR  PONT AVANT 4X4 1 10,00

45 HY24445 ENSEMBLE PONT AVANT 4X4 ELECTR 1 1 030,00

46 HY24446 MOTEUR ENCLENCHEMENT PONT AV 1 75,70

47 HY24447A BOITIER CONTROLE ELECTRONIQUE 1 65,50

48 HY20716 ROULEMENT 6201 2 2,40

Page 97/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

4WD DIFFERENTIAL

Nr REFERENCE DESIGNATION QTY PRICE

1 HY24701 CARTER DROIT 275CC 1 85,80

2 HY24702 WASHER 2 8,10

3 HY24703 PIGNON 2 103,10

4 HY24704 TRANSMISSION CASE BODY 1 32,30

5 HY24705 BAGUE DE CENTRAGE 1 12,80

6 HY10003 VIS M6X65 2 1,10

7 HY24707 AXE 2 16,20

8 HY24708 ENGRENAGE CONIQUE 2 115,90

9 HY24709 DISQUE GARNI 2 9,30

10 HY24710 DISQUE ACIER 2 9,30

11 HY24711 DISQUE GARNI 2 9,30

12 HY24712 RONDELLE BELLEVILLE 4 8,10

13 HY24713 WASHER 2 0,50

Page 98/99 HYTRACK HY400



Service Après Vente delta mics - Tél. +33 (0)3 86 42 60 60

4WD DIFFERENTIAL

Nr REFERENCE DESIGNATION QTY PRICE

14 HY24714 CARTER GAUCHE 275CC 1 68,40

15 HY24715 BAGUE 2 0,50

16 HY10083 VIS M6X15 2 0,80

17 HY10131 VIS M8X16 6 0,90

18 HY24718 VIS M8X15 6 0,60

Page 99/99 HYTRACK HY400


